o(0 @) (rad)

-

Ratio

Ratio

o p/p.)

a(d cot(d))

1072

H
S
o

102E::

1

2 3

TP n (PCA to beamline)

...............

e

..............

R [
TP n (PCA to beamline)

1

2

3

Ratio

8 .
8 F :
x O S | AREGERREETH (EPPEPE T RPN TPEPRE
............... | SRS | IS U 75 NS
: r : : i i :
2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—e— DQM_ _IT pL
—— DQM_mKFit_TT pLW
—— DOM_mKFit_TT pLW_IMP
= IO S SO VO O A T £
2 e
3? e R A R DN
= )
35 S

b b S
8 JOU N U S T O S
1: . . :| q .

- -2 -1 0 2 3

TP n (PCA to beamline)



	Contents
	Page 1


